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animal W

Which.one of the foI!owmg observattons would help her confirm that animal Wis an

insect? -

(1j It has eyes. .
(2) HIhaswings.
(3) Ithas 3 body parts

_ . (4) lt has hazrs on rts Iegs R

Which one of the following statements is true about mould and fern?

‘(1) Both of them have. leaves.

- -+ -(2)-~.Both.ofthem produce ﬂowers .
T(3) ‘Both of: them make; thelr own food

T4y Both of them’ reproduce from spores

. «;_3‘._"' ¢

fﬁe-cl'eselﬁcéfi:ori téti'le'oeio\ﬁishow; the characteristics.of four things, A, B, C and

Does it make Does :t move on its _ “Does it charige
: itsownfood? |- own? .o - .insize?
A . " No,. .} . Yes. ... -} =~ Yes
B T N | No | Ves
v Cr | - Yes: |- - - Yes v o T |n- Yes..
Doof, _-Now ol <. oNe~. ....] -.No-

:| Things

Which of the above things are most likely to be living things?

(1) A and B only (2) AandConly
(3) B and Conly (4) Band D only

1
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4. Study the flow chart below carefully. - SRS

Does.it grow

St Does it bear
" on'land?- - ‘

Plant flowers?’

Does itbear™
flowers?
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5. . The classifi catlon chart below:shows how some.animals.are classrﬁed into.groups

W, X, YandZ

.’Hl

Produce milk for their

' Sé!iy- saw an animal with the following characteristics :

o HaE hair asthody coviting ™ -
» ' Can only live in water

Based -on the, mformatlon above |n wh:ch graup should Sally classﬁy the
animal that she had: seen'? P .

W

2 X

(4 z

young
|
{ i
“Livein "Live on
water land
[ I
Y - Z
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6. Amy. Betty ‘and’ Cmdy conducted an’ expenment to-find: out::more:. about bread
mould. They used four. clear identical. plastrc bags ‘and four similar slloes of bread

} 'They toasted two shces of bre '

) a-toaster untll they were’ very. dry and, Ieft them’

_ shown below and observed the:' '
I _‘;They recorded their: obsewabons in

- They then put each s!rce of |
_ bréad malild’growing on the’ bre
“the table below.~ "~ -

bread A

' bread B

bread G

brea'd D

toasted toastedh nof?ﬁ-t_oasted not toasted .
sealed bag 3| “gpenbag | sealed bag open bag
4 gy L N £
Amount of
bread mould
observed
after 6 days

N/
N/

bread mould on each silce of bread ‘

Which one of the following statements is correct?

D ‘Bread miould does not grow'when the bag'is sealed.
e o(2) Bread:mould does not grow when the bread.i is  toasted.
(3} Bread mould grows better when the bread is not toasted

(4) . Bread mould grows best when the bread.is toasted and is ‘put into an
- .open bag .
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7. Which one of the following is not a system?

w .. @

@)

8. The diagram below shows a pen.

PartBilabel |

Part A: pen cover

" PartC: ink

Part D: pen tip

Which of the following parts, when removed, will nét affect i'ts:Wri-ti'ngr.' |
function? " N
1) Aand B only 2) AandD only
3) BandConly 4) BandD only
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Which one of the following is not part of the human respiratory-system?

(1) nose (2) lungs

O (3) héat” T 77 7 (4) ‘windpipe

10.

11.

12,

. (1) gullet . .
"(2) ‘stomach’ _
(3} smallintestine-

Which two systems work together to allow Brian to walk up the stairs?

_ A: Skeletal syétem

B: Muscular system’
C: Digestive system
D: Respiratory system

(1) Aand Bonly (2) Aand Conly
(3) Band Conly (4 AandDonly

Which one of the following statements about the human digestwe system s
true?

(1) Digested food is absorbed into the bloodstream.
(2) ' The targe intestine absorbs-water from the digested food.

“(3) - Solid waste'is stored-in'the:smalf intestine before it is passed-out.

(4} The gullet squeezes.the food into smaller pieces-as it is pushed down to
the stomach.

--Dayi,d qg§cﬁbe§ an organ in fhe. digestive-system as sh_owﬁ below.-

"1 I am the longest « organ in the dlgestwe
-} system; Dlgesttve juices are added to

-1 the food here. | also- absorb most of the' -
- nutnents from the dlgested food

Which of_gép‘ best _rep_r'_es_ents Davi,c.!-'é_,. déscﬁﬁﬁdﬁ'} L

(4) large intestine
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13. Which organ is not doing its function well when someone is having difficulty in
passing out the faeces?

(1) anus ' - T {2 mouth”
(3) smallintestine —_— (4) large intestine

14. Study the diagrém_below.

P
in which paris of the diaéram, P,Q R, SorT, db-digéstic;h take place?'
(1) PandR only (2) Rand Sonly

(3) P,Rand S only 4) R,SandTonly
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-

15. The diagram 'bélow shows'

Which part of the fruit will grow into a neWplgﬁt?

(1) A @B
3 c | @ D

16. Study the picture below carefully.

.. What.do the arrows.above represent?. . ... -« i 2w i .

movement.of food.

movement of water, .-
movement of oxygén'- -
movement of mireral sals. -

TOmX

(1) Bonly ' © 7 (2) B and'D onily
(3) Aand C only (4) A, BandConly
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17.  Which of the foilowing statements are the correct functions of.a stem?

A: It supports the plant.
'B: " It holds the plant firmly to the ground.
C: It transports food and water to different’ parts of the plant. .

(1) “AandBonly h @ AandC only
(3) B and C only T (4) A, B and C-

18. Alex conducted an experiment on four s:mllar plants kept under different
conditions as shown in the table below.

plant w plant X plant Y plant Z

 Where is it ' In a cardboard . "In a cardboard
_ kept‘? _In,th_e gpen ~hox In tt'e;"‘? e box
dail y? Yes - No No - |. Yes
" Which plant would-most likely wilt first?
() plantW .. e .. @) plntX
(3) plantY R (4) plantZ
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19. Tim used-part:X of thé knife to cut some meat as shown below.

Part X-of the knife is made of metal. Which property of metal makes i suitable to
cut the meat?

(1) strong

(2) flexible .

(3) transparent
(4) able.to float

',‘2'0. * Meena placed a bar magnet close to a copper com as shown m the dlagram
" below: - g . i -

_'barn]agnet" 5 .
' . copper.coin

Which of the following is Iii:(elj"(,to happen?

. (1) 'The copper coin does not move at all.”

(2) - “The bar. 'magnet moves. towards the: copper GO et v LT

(3)  The copper coin moves towards the bar magnet )
(4) . The copper com moves away from tive bar magnet

10
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Siti was given four metal bars, W, X, Y and Z. -Th-e"two‘ends of each bar were
labelled accordingly as shown below.

r g

.w - M x . Y . _ . Z

She brought the ends of the metal bars close to each other and noted her
observations in the table’ below

Ends bro-ﬁght close to each other Obéervation
Aand G . atiract
Band C : ’ © repel
BandE | atract
- Cand |:' S Er—— attract -
Dand H repel
-G a.ﬁd D - - '_- - aftract -

= ,Based on the results above whlch metal bar is nota magnet'?

yow 2> X

11
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22.  The picture below shows a bicycle:

tyre-

Four materials, A, B,CandDare being‘ considered to make.the tyre of the
bicycle. They have different properties as shown in the table below.

Lo L

Properties
Material | : ‘ -
Strong Flexible Fragile Waterproof
A - v . - - I
B v oo N i
LR T P P N A
t s Da _— EEIV T et ,’/l R LR E :.;.-.: vﬁ N

Which material is the most suitable for making the tyre of the bicycle?

M A L@ B
®e. . . T @o

12
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23:.- Chong Ming aranged four similar bar magnets and two similar U-shaped
magnets as shown below.

If V is the S-pole, which of the following correctly shows the poles of W, X, Y and

z?
‘W X Y Z
M | N-pole S;pole S-pole’ N-pole
s (2_)' " N-pole | ‘N-pole-~ |} N-poler | -S-pole
) [T spole | Nepole | Nepole | S-pole
(4) S-pole S-pole N-pole S-pole

13
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Alex carried out an ekp‘e'rimént'with'fdm-§ﬁé§t§ of different materials, W, X, Y and
Z. The materials are of the same size. He'put each sheet of material over a plastic
container as shown below and poured 20 mi of water onto it. Five minutes:jater,

he observed the following. =~

20 mi of water
material W

plastic container

=+ 10 ml of water

material X

- 8 ml of water
plastic container

material Y

2 mi of water plastic container

material Z

plastic container 16 ml of water

Based on the results of his experiménit, which material is most suitable for making- .

a towel?

(1) . Materiat w

(3) - Material Y

@ Material X
(4) ‘Material Z -

-7 'EndofBookletA

14
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Booklet B.(32.MARKS)

For questions 25 to 34, write yE';ur anéwérs in thls Boo_klet.

25. Look at the two animals sh_(;iwn below,

animal A animal B

State two similarities and one difference between the two animals based on the
following characteristics. ‘

- (i)~ -Similarity1_basqd-qn-the-lnur_nber oflegs:.. -~ --- .. Cel {(Im)~

i) Sim‘i!a'ri-ty' 2 based on a characteristic of living things: T (1m)

. (i) ;-Diﬁe;géi},ce bé'sed-oh theifbody-coverings-:— Tt e - (--1m)-;-.f_- :




26,

(a)-

(b)

().
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e e ettt e

Ahmad used a microscopé:: Ao examlne hisidead fish. He found some micro-
organisms on it. He observed that the mlcro-orgamsms multlplxed very quuckly
The graph below shows his fi nd:ngs DR . =

Amount of
micro-
organisms

“Number of hours

From the graph above, describe the change in the amount of micro-organisms
from the Hour 1 to Hour 4. : (1m)

Based on Ahmad’s observatlon whlch group of Iwmg things should the micro- .
orgemsms be classified under? _ ’ (1m)

‘Based-on the graph what Is the characterlstlc of Iwmg thtngs observed in this

expenment’? S ce o . . (1m) -
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- 27. Study the classification chart below..

Living things

Cannot make- |

: : " Can make their
their own food own food
: R:plrdduce 'R}aprbt:)qcﬁ by ' Repfodﬁc;e-- 1 Réproduce Reproduce
y laying giving birth tq by spores by seeds by spores
eggs young alive- | ]

l_'—l (,: D

Have Have
feathers scales

Be5|des being able to reproduce by Iaymg eggs and havmg feathers, state another
charactenstlc specral to the llvmg thlngs in group A

(1m)

Based on the chart whtch of the foilowmg living thlngs in the table below can be best

.repreSented by groups C and E? (Wnte C and E in the table below once only. )

| Living Things_. ,

3| * Flowering plants  |-NenFiowsfing plants | ~ |

Maminals ~~ |

Question 27 continues on page 4

" (2m)
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Question 27 continues from page 3

Simon-studied about living thing Z shown below.

_,n-

llvmg thing Z .

P R YT P N . ooy i
L Sk g . ¥ i PRt s

(c) He sa|d that Ilvmg thlng Z should be placed in group D Do you agree with him? Explam
why (im)

| 28 Charlie made a straw modél of the 'sKeletal systern as shownrbelow. ==~ &

ldentlfy the parts labelled X and Y-and state Wthh ergan they protect ina human.- ’

T Part ldentrf' catlon of labelled part ~__ Which organ it protects

X

(2m)
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29. Jane Ciassified tHe parts of e humar digéstive systenmas:shown below.

|- . Digéstive:System.”

stomach
small intestine....

(a) Provide a suitable heading for the following:

Group A:

.Grou_pB:_ | | o :.‘ o . (2m)

R . - R R e I T R T R e B R o

(b) Jane wanted to inciude windpipe in Group*A. Do you agree with her? Explain
why. : ' (1m}




30. The graph below shows the amount of undigested food as it énters each part -
of the human digestive system. (The parts of the digestive system are not .
_arranged in any ‘order)

a

Amount of undigested food
(9)
X
o

A B G. b E
Parts of Digesfive System

(a) " Based on the graph, name the parts of the digestive system. ' (3m)

| Paits: |- Parts of the digestive system |. -

A

B

D - Jullet

() What would happen to the undigested food after partE? - = - (tm)"
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31. Study the flowchart below.

-|- “Plant : - S e

Isita >
flowering
. plant? .

Does it have-a
weak stem?_ -

Does it have a
weak stem?

(a) State the characteristics of blant A

(b) State the difference between plant B-and plantD.. . - . {(Im)

: Que's'tion:;?.tl ‘continues; on page 8 3
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Question 31 continues from page 7

(¢} Mrs Lim bought plént X and it grew in hervg‘ard.en' as shown Below.

" Based on the ﬂdi&véﬁéﬁjﬁiﬁibh :ié:t‘fé_i',' A, B.CorD, woiild Best represent plant
X? Explain why. o ' S {im)
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32." Chatlie set lip 4’ éxperimént as shiown below.

container A ' . container B

He recorded the vol-um'e' of water mcontélners A and B on Day 1 an.d' Day 5.
The results were recorded-in the table as shown below.

S T
b DI SRET e g s PR

| -Volume.ofwateron | . Volume of water on

“Dayti(ml) o) Day.5.(ml)
Container A O 30ml 20 m{
ContainerB | . 30 ml - |- -« 30ml .

(8) Why was there no change in the volume of water in container B?. {1m) .

PR

(b) From the experimental resuits above, what could Charlie infer about the
function of the roots in a plant? . . . (1m)

(-} What_ wouid _Chérlie_obser_ve ébéut'thé'mo'plants after one week.. - (2m) -

" Plant A .

_F?Ian'fB:
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(a)

o

N (O

| chioice . : _ ‘ s (tm) -

. Rqsyth SchoollSemestral Assas'sment 2iScience/P32015 .

Mike set up an expenment to ﬁnd out the properties_of three planks. W, X.and Y

which are made of different materials. He placed plank Won supports as shiown in
the diagram below Then he placed blocks on p!ank W, one ata ttme untll it broke
Pyt

supports

The table below shows the number of blocks that each plank could hold without
breaking.

aci Number ef bleE:ks it coutd hold
Plank without breaklng
X ’ 7
Name the properQrof matena! fested in the exb'eflment ST _' (1 m)

Arrange the planks W Xand Y accordmg to. their. abmty to hold the blocks without
breaking. _ S (1Tm)

we'akést.' o

Which. plank. W XorYi |s the most suntable for making a bookshelf’? Explaln your

10
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(a)
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Weilin set up an experiment as shown in the diagram below. '

clamp \{:
o L T — — . bar_magnet
{
ﬁ metal paper clip
retort stand . .
\ string .
weight

Explaln why the paper clip could float in the air as shown in the dlagram above
‘ (1m)

Weilin removed the magnet and dropped it onto the floor several times, When she
placed the. magnet back an the ctamp, she notlced that the paper chp was no
longet able to floatin the air:

Based on-Weilin's observation, what has happened to the magnet after belng ‘
dropped on the ﬂoor'? . o o : : (1m)

W‘thout changmg the magnet or. addmg anythmg to the set—up, what can Werlln do ‘

to make the paper clip-float in.the aif again? - - - © (1m)
End of Paper ‘

11
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Q25. (i) Both animal A and B have fourlegs. Q25. (ii) Both of them move by themselves.
'QZS (m) Animal A has scales while animal B has skin. -
Q26a. The amount of micro-organisms increased from Hour 1 to Hour 4.
Q26Db. Bacteria. Q26c. Living things reproduce. ~ Q27a. They have a beak.
Q27b.E,F,C,B
Q27c. Yes. Because lt reproduces by spores and cannot make its own food
. Q28 X:Skull / Bram Y Rib cage / Heart lungs . |
Q29a. Group A : involved in digestion Group B: not tnvolved in diéestion
Q29b. No. Because windpipe is not in the dlgestwe system
: TQ3 ()a A: stomachi’ B: mouth C small intestine E: large 1ntestme -
i Q30b It will be passed out through the anus.
Q3 1a Plant A isnota ﬂoWermg pIant and does not have a weak stem
’ Q31b Plant Bis a non - ﬁowermg pIant while plant Disa ﬂowermg pIant -
Q31c D Because 1t has a weak stem and bears ﬂowers
- Q32a Plant B has no roots sor no water can be absorbed - Q32Zb. The _rootsjabsorb wat_er
~_Q32c PlantA It will grow. -,Plant_-B:-lt will wilt and die. . Q334. Strength
- Q33b. W (weakest), Y, X - | |

Q33c. X. Because it is the strongest material since it could hold the most number of blocks
without breaking.

Q34a. Because the bar magnet is attracting the metal paper clips.

Q34b. The magnet lost its magnetism Q34c. Put the magnet closer to the metal paper clips.
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